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Note: Student should not write anything on question paper. 
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uksV % fo|kFkhZ iz’ui= ij dqN fy[ksa ughaA izFke iz’u gy djuk vfuok;Z gSA 

      iz’u Ø- 2 ls 8rd esa fdUgha ikap dk mÙkj nsuk vfuok;Z gSA 

 

Q.1         Multiple choice Question / oLrqfu"B iz’u    [2x5=10] 

(i)  General formula for the offsets from the chord produced is given by    
 c<k;s x, thok fof/k esa ç;wDr lw= gksrk gS& 

(a) Cn/2R    (b) Cn x Cn-1/2R 

(c) Cn + Cn-1/2R    (d) Cn(Cn + Cn-1)/2R 

(ii) The U fork and plumb bob are required for- 
 ;w QkWdZ vkSj IyEc cksac dk mi;ksx fd;k tkrk gS& 

 (a) Cantering /dsUnz.k    

 (b) Leveling/ lery esa 

 (c) Orientation / fnØLFkkiu esa  

 (d) Cantering and orientation/ dsUnz.k o fndLFkkiuk esa  

 

(iii)   Telescope of the theodolite is called normal when- 
 F;ksMksykbV ds nwjchu dks ukWeZy dgrs gS& 

 (a) The telescope is magnetic meridian / tc VsyhLdksi pqEcdh; ;kE;ksRrj esa jgrk gS  

 (b) The reading on the vertical circle is zero / Å/oZ o`Rr dk ikB~;kad 'kqU; jgrk gS 

 (c) The vertical circle is to the right of observer / Å/oZ o`Rr izs{kd ds nkbZ vksj gksrk gS  

 (d) The vertical circle is to the left of observer / Å/oZ oR̀r izs{kd ds ckbZ vksj gksrk gS 

 

(iv)  The multiplying constant of a tachometers is- 
 VsD;ksehVj ;a= dk xq.kkad fLFkjkad gksrk gS& 

 (a) f/i    (b) (f/i+d) 

 (c) (f/d+i)    (d) f+d 
  

(v)  In a simple circular curve the distance between the intersection point and the middle 

 point of a curve is called- 
 ,d ljy oØ ds izfrPNsnu fcUnq ,oa oØ ds e/; fcUnq ds chp dh nwjh dks dgrs gS& 

 (a) Versed sine / 'kjT;k   

 (b) Mid-ordinate / e/; dksfV 

 (c) Long-chord/ nh?kZ thok 

 (d) Apex distance / f'k[kj nwjh 

  

 



 

Q.2 (a) State the factor upon which accurate orientation of a plane table depends and 

explain any one method of orientation. 
og dkjd crk,a ftl ij lery lkj.kh dk lVhd vfHkfoU;kl fuHkZj djrk gS vkSj vfHkfoU;kl dh 

fdlh ,d fof/k dks le>krk gSA 

 (b) Compare radiation and intersection method of plane table surveying and give an 

example of most desirable application of each. 
lery lkj.kh losZ{k.k ds fofdj.k vkSj izfrPNsnu fof/k dh rqyuk djsa vkSj izR;sd ds lcls okaNuh; 

vuqiz;ksx dk ,d mnkgj.k nsA 

 

Q.3 (a) Explain plane table survey and also explain advantages and disadvantages of 

plane table survey. 
Iysu Vscy losZ ds ckjs esa crkb, vkSj Iysu Vscy losZ ds Qk;ns vkSj uqdlku Hkh crkb,A 

 (b) Explain the temporary adjustment of theodolite and state how would you 

measure the following with theodolite. 
 fFk;ksMksykbV ds vLFkk;h lek;kstu dh O;k[;k djsa vkSj vki fFk;ksMksykbV ds lkFk fuEufyf[kr dks dSls 

ekisaxs& 

 Horizontal angle / {kSfrt dks.k  Vertical angle / Å/okZ/kj dks.k 
 

Q.4 (a) Enlist the source of error evolved in theodolite. 
fFk;ksMksykbV esa fodflr =qfV ds L=ksr dks lwphc) dhft,A 

 (b) A man travel from point A due west and reaches a point B. The distance between 

point A and B is 139.6m. Calculate the latitude and departure of line AB. 

fcanq A ls if'pe esa ;k=k djrk gS vkSj ,d fcanq B ij igqaprk gSA fcanq A vkSj B ds chp dh nwjh 

139.6m. gSA js[kk AB ds v{kka'k vkSj izLFkku dh x.kuk dhft,A 

 

Q.5 (a) Explain the methods employed to determine the tachometer constant. 
 VSdksehVj fLFkjkad dk fu/kkZj.k djus ds fy, fu;ksftr fof/k;ksa dh O;k[;k dhft,A 

 (b) Why analytic lens is used in tachometer? Explain. 
 VSdksehVj esa ,ukfyfVdy ysal dk mi;ksx D;ksa fd;k tkrk gS\ crkb,A 

 

Q.6 (a) Define degree of curve. What is relation between degree of curve and its radius? 
 oØ dh fMxzh dks le>kb,A oØ vkSj bldh f=T;k dh fMxzh ds chp D;k laca/k gSa\ 

 (b) Draw a simple circular curves showing its element. 
,d ljy xksykdkj oØ [khpsa tks bldk rRo n'kkZrk gSA 

 

Q.7 (a) State the meaning of following - 
 fuEufyf[kr dk vFkZ crkb,& 

i) Traversing / vuqxkeh 

ii) Closing error / can djus dh =qfV 

iii) Open Traversing / vksiu VªSoflZax 

 (b) Explain the types of curve used in railway and road alignment. 
 jsYos vkSj lMd ds lajs[k.k esa iz;qDr oØ ds izdkj crkb,A 

 

Q.8 (a) Explain the following term:- 
 fuEufyf[kr 'kCn le>kb,& 

 (i) Tachometer survey / VSdksehVj losZ{k.k (ii) E.D.M method / bZ] Mh] ,e fof/k 

 (b) Explain the component of E.D.M and their function. 

 E.D.M. ds ?kVd o muds dk;Z dh O;k[;k dhft,A 
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Q.1 Multiple Choice Question / oLrqfu"B iz’u        [2x5=10] 

(i)  Residual soils are formed by- 
 vof'k"V feV~Vh dk fuekZ.k gksrk gS& 

 (a) Glaciers/ Xysf'k;j   (b) Wind/ gok 

 (c) Water/ ikuh   (d) None of the above/ mijksDr esa ls dksbZ ugha 

  

(ii)  Water content of soil can- 
 feV~Vh dh ikuh dh ek=k gks ldrh gS& 

 (a) Never be greater than 100%/ dHkh Hkh 100% ls vf/kd ugha gksuk pkfg, 

 (b) Take values only from 0% to 100%/ dsoy 0% ls 100% rd eku ysa 

 (c) Be less than0%/ 0% ls de   

 (d) Be greater than 100%/ 100% ls vf/kd gks 

  

(iii)  Which of the following types of soil is transported by gravitational forces- 
 fuEufyf[kr esa ls fdl izdkj dh feV~Vh dks xq:Rokd"kZZ.k cyksa }kjk ys tk;k tkrk gS& 

 (a) Loess / yqbl    (b) Talus/ rky 

 (c) Drift/ cgko    (d) Dune sand / fVCck jsr 

 

(iv)  A fully saturated soil is said to be- 
 ,d iwjh rjg ls lar`Ir feV~Vh dgk tkrk gS& 

 (a) One phase system / ,d pj.k iz.kkyh  

 (b) Two phase system with soil ad air/ feV~Vh vkSj gok ds lkFk nks pj.k iz.kkyh 

 (c) Two phase system with soil and water/ nks pj.k iz.kkyh feV~Vh vkSj ikuh ds lkFk  

 (d) Three phase system/ rhu pj.k iz.kkyh 

  

(v)  Valid range for S, the degree of saturation of soil in percentage is- 
 ,l ds fy, oS/k lhek] izfr'kr esa feV~Vh dh larf̀Ir dh fMxzh gS& 

 (a) S>0   (b) S<0 

 (c) 0<S<100   (d) 0<s<100 
 

 

 

 



Q.2 (a) State the different reasons of weathering of rock. 
pV~Vkuksa ds vi{k; ds fofHkUu dkj.kksa dks fyf[k,A 

(b) What is phase diagram of soil? 
eǹk dk izkoLFkk fp= le>kb,A 

 

Q.3 (a) Draw the sample of grain size distribution curve for the different soil - 
fuEu izdkj dh eǹkvksa gsrq uewuk d.k ifjeki forj.k oØ cukb,A 

i) Gap-graded soil / xsi&xzsMsM eǹk 

ii) Uniformly graded soil / ;wfuQkseZyh xzsMsM eǹk 

  (b) Describe flow curve in brief. 
izokg pØ dks le>kb,A 

 

Q.4 (a) Why smooth wheel rollers are suitable for compacting course grained soil? 
 fpduh lrg okys jksyj eksVs d.kksa okyh eǹk dh dqVkbZ gsrq D;ksa mi;qDr le>k tkrk gS\ 

 (b) State S.I. classification of soil per grain size analysis. 
 eǹk ds d.k ifj.kke ds vk/kkj ij Hkkjrh; ekud iz.kkyh ds vuqlkj eǹk dk oxhZdj.k dhft,A 
 

 

Q.5 (a) Draw the neat sketch of try axial test apparatus and explain it. 
 f=vf{k, ijh{k.k ds midj.k dk lkQ fp= cukb, vkSj le>kb,A 

 (b) Why study of seepage of water through soil is essential? 
 eǹk ds ty fjlko dk v/;;u djuk D;ksa vko';d gksrk gS\ 

 

Q.6 (a) State the Darcy's laws related to the permeability explain in brief. 
ikjxE;rk ls lacaf/kr MklhZ fu;e fyf[k, vkSj le>kb,A 

  (b) Describe the procedure used for the stabilization of black cotton soil. 
dkyh feV~Vh ds LFkk;hdj.k dh fof/k le>kb,A 

 

Q.7 (a) State the geological cycle for soil formation. 
eǹk mRifRr ls lacaf/kr Hkw&oSKkfud pØ dk o.kZu dhft,A 

(b) Write assumptions made in Rankine's theory of earth pressure. Explain active 

and passive earth pressure. 
eǹk nkc dh x.kuk djus esa jsafdu ds fl)kar dh ekU;rkvksa dk mYys[k dhft,A lfØ; ,oa fuf"Ø; eǹk 

nkc dk mYys[k dhft,A 

 

Q.8 (a) Write short note on - 
laf{kIr fVIi.kh fyf[k, & 

i) Retaining wall / /kkjd nhokj 

ii) Phreatic line / Ýh,frd ykbu 

 (b) Explain the falling head method to determine the permeability of soil with 

diagram and also determine the formulas. 
 eǹk dh ikjxE;rk fudkyus dh foLFkkfir fof/k dks fp= lfgr le>kb, ,oa lw= LFkkfir dhft,A 
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Q.1 Multiple choice Question / oLrqfu"B iz’u       [2×5=10] 

(i)  Stress is proportional to strain for ductile material till- 
 rU; inkFkZ ds fy, &&&& rd izfrcy fodf̀r ds lekuqikrh gksrk gS& 

 (a) Plastic limit/ IykfLVd ¼lq?kV~;½ lhek  

 (b) Elastic limit / izR;kLFk lhek 

 (c) Elastic limit/ izR;kLFk ls IykfLVd lhek  

 (d) End limit/ vafre lhek 

  

(ii)  The maximum bending moment in a cantilever, carrying U.D.L. throughout the 

span, occurs- 
 laiw.kZ foLRkf̀r ij ,d leku forfjr Hkkj ogu djus okys vuqizkl /kju esa vf/kdre ueu vk?kw.kZ  gksrk 

gS& 

 (a) Fixed end/ vkc) fljs ij   

 (b) Free end/ eqDr fljs ij 

 (c) Middle of the span/ ikV ds e/; esa  

 (d) Anywhere in the span/ ikV esa dgha Hkh 

  

(iii)  If n>2 j-3, then the frame is- 

 ;fn n>2 j-3, rks <kapk &&&& gksxk& 

 (a) Perfect frame/ iw.kkZxh <kapk   

 (b) Redundant frame/ vfrfjDr <kapk 

 (c) Deficient frame/ U;wukaxh <kapk   

 (d) Any of these/ buesa ls dksbZ ugha 

  

(iv)  Bending stresses in a section are maximum at- 
 fdlh vuqizLFk dkV esa ueu izfrcy vf/kdre gksrs gS& 

 (a) Neutral axis / mnklhu v{k ij           

 (b) Centre of cross section / dkV ds dsUnz ij 

 (c) Extreme fibers / nqjLFk rUrqvksa ij    

 (d) One third depth of section / dkV d ,d frgkbZ xgjkbZ 

 

 

 



 

(v)  Hogging bending  moment produces- 
 mRryu ueu vk/kw.kZ mRiUu djrk gS& 

 (a) Tension in top and bottom fibers / Åijh rFkk fupys rUrqvksa esa ruko 

 (b) Compression in top and bottom fibers / Åijh rFkk fupys rUrqvksa esa laihMu 

 (c) Compression in bottom fibers and tension in top fiber/ fupys rUrqvksa esa laihMu  rFkk 

Åijh rUrqvksa esa ruko 

 (d) Compression in top fibers and tension in bottom fibers / Åijh rUrqvksa esa laihMu  rFkk 

fupys rUrqvksa esa rUkko 

 

Q.2 (a) Explain stress and strain. 
ruko vkSj LVªsu dks le>kb,A 

 (b) Define bulk modules, modules of rigidity and Poisson ratio. 
 Fkksd ekWM~;wy] dBksjrk vkSj IkkW;lu vuqikr ds ekWM~;wy dks ifjHkkf"kr dhft,A 

 

Q.3 (a) Draw stress strain curve for mild steel. 
gYds LVhy ds fy, LVªsl LVªsu doZ cukb,A 

 (b) Explain yield stress and ultimate stress and also explain strain energy. 
 mit ruko vkSj vafre ruko dh O;k[;k djsa vkSj ruko ÅtkZ dh Hkh O;k[;k dhft,A 

 

Q.4 (a) Write Rankine's formula for column. 
dkWye ds fy, jSafdu dk lw= fyf[k,A 

 (b) Explain the relation between different types of elastic constantan in detail. 
 fofHkUu izdkj ds bykfLVd fLFkjkad ds chp ds cks/k dks foLrkj ls le>kb,A 

 

Q.5 (a) Explain principal plane and principal stress in detail.  
izeq[k foeku vkSj izeq[k ruko ds ckjs esa foLrkj ls crkb,A 

 (b) Describe comparison of stress due to gradual load, sudden load and impact load. 
 Øfed Hkkj] vpkud Hkkj vkSj izHkko Hkkj ds dkj.k ruko dh rqyuk crkb,A 

  

Q.6 (a) A point in strained material is subjected to two mutually perpendicular stress of 

50 N/mm
2
 and 50 N/mm

2
 both are tensile. Calculate normal and tangential stress on 

a plane making an angle of 30. 

Nyuh okyh lkexzh ds ,d fcanq dks 50 N/mm
2
 vkSj 50 N/mm

2
 ds nks ijLij yac ruko ds v/khu 

fd;k tkrk gSA nksuksa 30 dh dks.k cukrs gq, lery ij lkekU; vkSj Li'kZ js[kk ruko dks de djrs gSA 

ukeZy vkSj Vsatsufl;y LVªsl dh x.kuk dhft,A 

 (b) Explain the derivation of volumetric strain. 
okY;weSfVªd LVsªu dh O;qRifRr crkb,A 

 

Q.7 (a) Name different types of beam and support. 
che vkSj leFkZu ds fofHkUu izdkjksa ds uke crkb,A 

 (b) What is slenderness ration and define moment of inertia? 
irykiu vuqikr D;k gS vkSj tMrk ds {k.k dks ifjHkkf"kr djrk gS\ 

 

Q.8 (a) What do you mean by section modules? 
lsD'ku ekWM~;wy ls vkidk D;k vfHkizk; gS\ 

 (b) What do you mean by column and strut? 
dkWye vkSj vdM ls vkidk D;k eryc gS\ 
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Q.1         Multiple Choice Question / oLrqfu"B iz’u        [2x5=10] 

(i)  Which one of the following is used to prevent the rails causing damage to 

 sleeper- 
 fuEu esa ls fdldk mi;ksx jsyksa dks Lyhij esa /kalus ls jksdus gsrq fd;k tkrk gS& 

 (a) Bearing plate / /kkjd iV~Vh (b) Fastening / cU/kd 

 (c) Check rail / psd jsy           (d) Chair / ps;j 

 

(ii)  Which one of the following is used to prevent the rails causing damage to 

 sleeper- 
 fuEu esa ls fdldk mi;ksx jsyksa dks Lyhij esa /kalus ls jksdus gsrq fd;k tkrk gS& 

 (a) Bearing plate / /kkjd iV~Vh (b) Fastening / cU/kd 

 (c) Check rail / psd jsy           (d) Chair / ps;j 

 

(iii)  Approximate number of sleepers required per kilometer distance in broad 

 gauge are (Given: Sleeper density-n+7)- 
 cM+h ykbZu jsyiFk ij çfr fdeh yEckbZ esa Lyhijksa dh yxus okyh yxHkx la[;k gksxh ¼fn;k gS&Lyhij 

 ?kuRo& n+7½& 

 (a) 160      (b) 1600 (c) 2600     (d) 6000 

 

(iv)  Which one of the following is not a low cost bridge? 
 fuEu esa ls dkSu&lk de dher okyk iqy ugha gS&  

 (a)Timber bridge / ydM+h dk iqy  

 (b) R. C. C. Girder bridge/ vkj- lh- lh- xMZj iqy 

 (c) Floating bridge / rsLrk iqy      

 (d) Flying bridge/ tu iqy 

 

(v)  The commonly adopted shape of the railway tunnel in India is - 
 Hkkjr esa jsyiFk ds fy;s lqjax dk vkdkj lk/kkj.kr% gksrk& 

 (a) Circular / o`Rrkdkj 

 (b) Elliptical/ ijoy;kdkj 

 (c) Horse shoe type / ?kksMs ds uky ds vkdkj dk 

 (d) Vertical wall with arch roof/ esgjkc dh Nr ,oa [kMh nhokj okyk 

 

Q.2 (a) Draw neat sketch of road section in cutting and explain element of road. 



 dfVax es jksM dk fp= cukb;s rFkk lM+d ds lHkh vo;oks dks le>kb,A  

 (b) Explain type of road widening. 
 lM+d pksMhdj.k ds çdkjks dks le>kb,A 

 

Q.3 (a) What do you understand by prime coat, tack coat and seal coat? 
 izkbe dksV] Vsd dksV vkSj lhy dksV dks le>kb,A 

  (b)  What is CBR value? Explain use of CBR value in design of flexible 

 pavement. 
 lh- ch- vkj eku D;k gS\ yphyh lM+d ds vfHkdYiu eS blds mi;ksx dks le>kb, A  

 

Q.4 (a) Explain any two traffic survey with their importance. 
 fdUgh nks VªkfQd losZ{k.k dks le>krs gq, muds egRo dks le>kb,A 

(b) Short note on/ fVIi.kh fyf[k,& 

 (i) Ductility test / rU;rk ifj{k.k    (ii) Arboriculture/ o{̀kkjksi.k 

 

Q.5 (a) Write down the definition of object and necessities of railway stations. 
jsyos LVs’ku dh ifjHkk"kk\ mn~ns’; rFkk t:jrsa fyf[k,A 

 (b)  Define culvert and bridge. 
 iqy rFkk iqfy;k dks ifjHkkf"kr dhft,A 
 

Q.6 (a) State the factor affecting selection of site of a bridge. 
 iqy fuekZ.k gsrq LFky p;u dks dksu ls dkjd çHkkfor djrs gSA 

 (b)  Define Tunnel. 
 lqjax dks ifjHkkf"kr dhft;sA 

 

Q.7 (a) What are the advantages and disadvantages of traffic signal? 
 VªkfQd flXuy ds ykHk vkSj gkfu crkb;sA 

 (b)  Explain ventilation of tunnel. 
 lqjaxks ds laokru dks le>kb,A 

 

Q.8 (a) Write various causes of creeping of rail. 
 jSyksa ds foliZ.k ds fofHkUu dkj.k fyf[k,A 

 (b) What are terminal station? Where they are established? 
 VehZuy LVs'ku D;k gS\ bUgs dgk LFkkfir fd;k tkrk gSA 
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Q.1        Multiple choice Question:              

(i)  The additional P’s of marketing are 
              विपणन के अविरिक्त पी हैं 
 (a) People, Physical evidence, Package / लोग, भौविक साक्ष्य, पैकेज   

 (b) People, Physical evidence, Process / लोग, भौविक साक्ष्य, प्रविया   

 (c) People, Process, Packaging / लोग, प्रविया, पैकेवजिंग 

 (d) Physical evidence, Process, Packaging / भौविक साक्ष्य, प्रविया, पैकेवजिंग 

  

(ii)  One of the features of marketing research is 
 विपणन अनसुिंधान की विशेषिाओ िं में से एक है

 

         (a) It is multi-tasking / यह मल्टी टाव्किं ग ह ै
 (b) It is multi-purpose / यह बहुउद्देश्यीय ह ै

 (c) It is multi-disciplinary / यह बहु-विषयक ह ै     

 (d) It is multi-natured / यह बहु-प्रकृवि ह ै
 

(iii)  The objective of Test Marketing is to 
                 टे्ट माकेवटिंग का उद्देश्य ह ै

 (a) Test the market with consumers / उपभोक्ताओ िं के साथ बाजाि का पिीक्षण किें 

 (b) Introduce product in open market / खलेु बाजाि में उत्पाद का परिचय दें 

(c) Predict product’s performance and its future / उत्पाद के प्रदशशन औि उसके भविष्य की 

भविष्यिाणी किें    

 (d) Test consumers with the product / उत्पाद के साथ उपभोक्ताओ िं का पिीक्षण किें 

 

(iv) Pricing is one of the essential components of 
               मूल्य वनधाशिण आिश्यक घटकों में से एक ह ै

 (a) Promotion mix / çeks’ku feDl  (b) Marketing mix / foi.ku feJ.k 

 (c) Product mix / mRikn feJ.k  (d) STP strategy / ,lVhih j.kuhfr 

 

(v)  Minimum Wages act is an example for –  
              न्यूनिम मजदूिी अवधवनयम इसके वलए एक उदाहिण है - 

 (a) Monetary policy /ekSfnzd uhfr     



 (b) Economic policy / vkfFkZd uhfr 

 (c) Legislation / fo/kku       

 (d) Consumer protection / miHkksDrk lja{k.k 
           

Q.2 (a) What is importance of marketing? 

foi.ku dk egRo D;k gS\  

(b) Explain various internal factor of marketing. 

ekdsZfVax ds fofHkUu vkarfjd dkjdksa dh O;k[;k dhft,A 

 

Q.3 Differentiate between selling and marketing. 

 fcØh vkSj foi.ku ds chp varj crkb,A 

(b) Explain various external factor of marketing. 

ekdsZfVax ds fofHkUu ckgjh dkjdksa dh O;k[;k dhft,A 

 

Q.4 (a) Explain the new product development and macro environment. 

 u, mRikn fodkl vkSj eSØks i;kZoj.k dh O;k[;k dhft,A 

(b) Explain segmentation and sales promotion mix. 

foHkktu vkSj fcØh izpkj feJ.k le>kb,A 

 

Q.5 (a) Describe the function of packing. 

 iSfdax ds dk;Z dk o.kZu dhft,A 

(b) Describe nature of consumer behavior. 

miHkksDrk O;ogkj dh izd`fr dk o.kZu dhft,A 
 

Q.6 (a) What do you understand by PLC? 

ih-,y-lh- }kjk vki D;k le>rs gSaA 

(b) Describe function of sales men? 
lsYl esu ds dk;ksZa dks le>kbZ;sA 

 

Q.7  (a) Explain various type of product planning. 

fofHkUu izdkj dh mRikn ;kstuk dh O;k[;k dhft,A 

 (b) Define advertisting and personal selling. 

foKkiu vkSj O;fDrxr fcØh ifjHkkf"kr dhft,A 

 

Q.8  (a) Describe method of sales promotion?  

वबिी पदोन्नवि की विवध का िणशन किें?  

(b) Compare tradition and modern concept of marketing.. 

foi.ku dh ikjaifjd vkSj vk/kqfud vo/kkj.kk dh rqyuk dhft,A 

 

Q.9  (a) Describe factor affecting prize determination of product?  

 उत्पाद के पिु्काि वनधाशिण को प्रभाविि किने िाले कािक का िणशन किें? 

(b)What is the importance of trade mark? 

 व्यापाि वचह्न का महत्ि ्या ह?ै  


